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1. Given that,
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2. Simplify the following expressions.
(a) 4x—-12-3y+8-—5x-6y
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(b) 2a®—6b? + 4ab — 5a* — 2b* —7ab

(1 mark)
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3. Simplify,

(a) 4xdx6x> — 2 &

) (1 mark)
6a 3
® = = Z=
(1 mark)
4. Expand the brackets and simplify,
(@ SE-y+2x+y) = S ffj + Zre 2
= [ — 3j
(2 marks)
() 3(5a—2b)—2@Ba—4b) = (S — % T Lew 48 \9
= Aee 2L
(2 marks)
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e) (2x-3)(5x+4)
— 3074-1'+S>x/(3—)<_—i2..

=, \@xl~ e —\ 2

(2 marks)
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r (2 marks)

5.

Solve the following equations. No marks will be given for trial and improvement method.

(a 2x—3=6x-—11

W =3=bx —2x Y = 2
Q - 4 o ——
& )
—_ = X
b ' (1 mark)

(b) 4(2x+5)=5x-23x—-12)
Irt26 = $o —bxr 2y

By = —% & 2820

Lw = - P =K T

Ne = L?/q // (3 marks)
) (x=2)(x—4)=(x-3)(x—-5)
/Né-’f—kx—lx 4 @ :k%e—fx.fgm —+ (£
"'63¢ _-k(g,:,,gw—'\—\lf
gx f-Q:vL = (§ ~ 8
2wz §

Y= B3
e (3 marks)

- End of Test -
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